		BaseLine Item Detail	Joseph M.	Sanzari, Inc.	J. Fletcher Crea	amer & Son, Inc.	JR Cru	z Corp.	Carbro Cons	tructors Corp.	Kyle Conti Construction, LLC		Sparwick Cor
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price
1 104-0001	1 L.S.	Construction Layout	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$56,000.00	\$56,000.00	\$97,000.00	\$97,000.00	\$30,000.00
2 104-0002	1 L.S.	Mobilization	\$313,550.00	\$313,550.00	\$275,000.00	\$275,000.00	\$356,914.00	\$356,914.00	\$405,000.00	\$405,000.00	\$518,500.00	\$518,500.00	\$785,000.00
3 107-0001	1 L.S.	Progress Schedule	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$1,500.00
4 108-0001	2,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00
5 201-0002	1 L.S.	Clearing and Grubbing	\$38,997.00	\$38,997.00	\$100,000.00	\$100,000.00	\$15,000.00	\$15,000.00	\$265,000.00	\$265,000.00	\$75,000.00	\$75,000.00	\$265,000.00
6 202-0002	2,162.00 C.Y.	Roadway Excavation, Earth	\$24.00	\$51,888.00	\$10.00	\$21,620.00	\$75.00	\$162,150.00	\$95.00	\$205,390.00	\$70.00	\$151,340.00	\$40.00
7 202-0007	748 C.Y.	Stripping Topsoil	\$24.00	\$17,952.00	\$25.00	\$18,700.00	\$40.00	\$29,920.00	\$35.00	\$26,180.00	\$15.00	\$11,220.00	\$50.00
8 202-0009	50,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00
9 203-0001	1,694.00 C.Y.	Embankment, Common	\$26.00	\$44,044.00	\$15.00	\$25,410.00	\$40.00	\$67,760.00	\$35.00	\$59,290.00	\$22.00	\$37,268.00	\$40.00
10 203-N0002	1,213.00 C.Y.	Controlled Low Strength Material	\$349.00	\$423,337.00	\$185.00	\$224,405.00	\$185.00	\$224,405.00	\$160.00	\$194,080.00	\$390.00	\$473,070.00	\$320.00
11 207-0003	38 Ton	Riprap Stone Slope Protection, 24in Thick, D50=12in	\$99.00	\$3,762.00	\$150.00	\$5,700.00	\$150.00	\$5,700.00	\$120.00	\$4,560.00	\$130.00	\$4,940.00	\$80.00
12 207-0004	161 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$65.00	\$10,465.00	\$150.00	\$24,150.00	\$100.00	\$16,100.00	\$120.00	\$19,320.00	\$150.00	\$24,150.00	\$90.00
13 208-0006	145 C.Y.	Hay Bales	\$20.00	\$2,900.00	\$75.00	\$10,875.00	\$50.00	\$7,250.00	\$10.00	\$1,450.00	\$50.00	\$7,250.00	\$100.00
14 208-0008	5,137.00 L.F.	Heavy Duty Silt Fence	\$7.00	\$35,959.00	\$9.00	\$46,233.00	\$10.00	\$51,370.00	\$15.00	\$77,055.00	\$12.00	\$61,644.00	\$5.00
15 208-0022	20 Each	Inlet Filter, Type 2	\$150.00	\$3,000.00	\$200.00	\$4,000.00	\$110.00	\$2,200.00	\$50.00	\$1,000.00	\$125.00	\$2,500.00	\$100.00
16 208-0024	1,646.00 Ton	Construction Driveway	\$35.00	\$57,610.00	\$65.00	\$106,990.00	\$130.00	\$213,980.00	\$75.00	\$123,450.00	\$85.00	\$139,910.00	\$45.00
17 208-N0001	2 Each	Concrete Washout Facility	\$750.00	\$1,500.00	\$10,000.00	\$20,000.00	\$1,250.00	\$2,500.00	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$2,500.00
18 208-N0002	30 Each	Sediment Control Bags	\$75.00	\$2,250.00	\$500.00	\$15,000.00	\$100.00	\$3,000.00	\$200.00	\$6,000.00	\$150.00	\$4,500.00	\$500.00
19 208-N0008	1 L.S.	Stream Diversion	\$70,000.00	\$70,000.00	\$787,500.00	\$787,500.00	\$350,000.00	\$350,000.00	\$820,000.00	\$820,000.00	\$500,000.00	\$500,000.00	
20 208-N0009	2 Each	Oil-Only Emergency Spill Kit, Type 1	\$750.00	\$1,500.00	\$750.00	\$1,500.00	\$20.00	\$40.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$250.00
21 213-0002	3,082.00 Ton	Disposal of Regulated Material	\$45.00	\$138,690.00	\$75.00	\$231,150.00	\$50.00	\$154,100.00	\$55.00	\$169,510.00	\$56.00	\$172,592.00	\$45.00
22 302-0004	1,665.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$266.00	\$442,890.00	\$125.00	\$208,125.00	\$100.00	\$166,500.00	\$150.00	\$249,750.00	\$92.00	\$153,180.00	\$225.00
23 303-0001	162 S.Y.	Berm Surfacing, 3 Inches Thick	\$65.00	\$10,530.00	\$50.00	\$8,100.00	\$65.00	\$10,530.00	\$70.00	\$11,340.00	\$60.00	\$9,720.00	\$77.00
24 415-0001	1,600.00 S.F.	Temporary Sheeting	\$60.00	\$96,000.00	\$10.00	\$16,000.00	\$5.00	\$8,000.00	\$167.00	\$267,200.00	\$100.00	\$160,000.00	\$30.00
25 418-0023	2 L.F.	Epoxy Resin Injection	\$1,050.00	\$2,100.00	\$750.00	\$1,500.00	\$1,000.00	\$2,000.00	\$4,000.00	\$8,000.00	\$300.00	\$600.00	\$500.00
26 499-N0083	1,604,000.00 USD	Furnish CCFRPM Pipe Liner, (No-Bid)	\$1.00	\$1,604,000.00	\$1.00	\$1,604,000.00	\$1.00		\$1.00	\$1,604,000.00	\$1.00	\$1,604,000.00	\$1.00
27 499-N0084	1,200.00 L.F.	Install CCFRPM Pipe Liner	\$335.00	\$402,000.00	\$375.00	\$450,000.00	\$250.00	\$300,000.00	\$400.00	\$480,000.00	\$400.00	\$480,000.00	\$478.00
28 499-N0085	130,000.00 USD	Furnish 40 inch Steel Pipe Liner (No-Bid)	\$1.00	\$130,000.00	\$1.00	\$130,000.00	\$1.00	\$130,000.00	\$1.00	\$130,000.00	\$1.00	\$130,000.00	\$1.00
29 499-N0086	361 L.F.	Install 40 inch Steel Pipe Liner	\$255.00	\$92,055.00	\$300.00	\$108,300.00	\$300.00	\$108,300.00	\$482.00	\$174,002.00	\$800.00	\$288,800.00	\$395.00
30 502-0008	100 L.F.	15 In Reinforced Concrete Pipe, Class V	\$275.00	\$27,500.00	\$150.00	\$15,000.00	\$250.00	\$25,000.00	\$224.00	\$22,400.00	\$220.00	\$22,000.00	\$100.00
31 502-0009	164 L.F.	15 Inch HDPE Pipe	\$240.00	\$39,360.00	\$125.00	\$20,500.00	\$60.00	\$9,840.00	\$194.00	\$31,816.00	\$210.00	\$34,440.00	\$160.00
32 502-0018	2 Each	15 Inch HDPE Flared End Section	\$830.00	\$1,660.00	\$750.00	\$1,500.00	\$275.00	\$550.00	\$600.00	\$1,200.00	\$3,500.00	\$7,000.00	\$530.00
33 503-0037	1 Each	Inlet, Type D2 Modified	\$15,000.00	\$15,000.00	\$78,063.00	\$78,063.00	\$50,000.00	\$50,000.00	\$29,000.00	\$29,000.00	\$100,000.00	\$100,000.00	\$25,000.00
34 503-0253	7 Each	Reconstructed Inlet, Type D2, Using New Grate and Frame	\$3,000.00	\$21,000.00	\$3,500.00	\$24,500.00	\$2,500.00	\$17,500.00	\$3,000.00	\$21,000.00	\$5,000.00	\$35,000.00	\$3,500.00
35 504-0011 36 505-0001	151 C.Y. 364 L.F.	Incidental Concrete Asphalt Concrete Lip Curb	\$601.00	\$90,751.00	\$550.00	\$83,050.00	\$300.00	\$45,300.00	\$780.00	\$117,780.00	\$900.00	\$135,900.00	\$450.00
37 510-0008	364 L.F.	Reset Beam Guide Rail	\$25.00	\$9,100.00	\$20.00 \$35.00	\$7,280.00	\$20.00	\$7,280.00	\$30.00 \$22.00	\$10,920.00 \$8,008.00	\$30.00	\$10,920.00	\$20.00
38 517-0002	364 L.F. 1 L.S.	Furnish Field Office, Type B	\$20.00 \$25,000.00	\$7,280.00 \$25,000.00	\$20,000.00	\$12,740.00 \$20,000.00	\$75.00 \$25,000.00	\$27,300.00 \$25,000.00	\$65,000.00	\$65,000.00	\$21.00 \$10,000.00	\$7,644.00 \$10,000.00	\$35.00 \$9,000.00
39 517-0002	19 Mnth		\$2,650.00	\$50,350.00	\$2,500.00	\$47,500.00	\$25,000.00	\$47,500.00	\$500.00	\$9,500.00	\$2,500.00	\$47,500.00	\$2,300.00
40 517-0013	15,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$15,000.00	\$2,300.00	\$15,000.00	\$2,500.00	\$15,000.00	\$1.00	\$15,000.00	\$2,300.00	\$15,000.00	\$2,300.00
41 522-0001	10 Each	Test Pits	\$250.00	\$2,500.00	\$100.00	\$1,000.00	\$2,000.00	\$20,000.00	\$850.00	\$8,500.00	\$300.00	\$3,000.00	\$300.00
42 523-0005	361 L.F.	Clean Existing Storm Drain, 27in to 48in Diameter	\$97.00	\$35,017.00	\$35.00	\$12,635.00	\$60.00	\$21,660.00	\$44.00	\$15,884.00	\$35.00	\$12,635.00	\$45.00
43 523-N0003	1,188.00 L.F.	Heavy Pipe Cleaning	\$125.00	\$148,500.00	\$210.00	\$249,480.00	\$210.00	\$249,480.00	\$225.00	\$267,300.00	\$325.00	\$386,100.00	\$115.00
44 524-0008	4 Each	Repair Temporary Impact Attenuators (Cartridge)	\$100.00	\$400.00	\$2,500.00	\$10,000.00	\$2,500.00	\$10,000.00	\$5,000.00	\$20,000.00	\$500.00	\$2,000.00	\$1,000.00
45 524-0043	4 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24in Wide	\$8,000.00	\$32,000.00	\$16,500.00	\$66,000.00	\$15,000.00	\$60,000.00	\$20,000.00	\$80,000.00	\$30,000.00	\$120,000.00	\$10,000.00
46 524-0044	4 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$1,750.00	\$7,000.00	\$6,000.00	\$24,000.00	\$1,000.00	\$4,000.00	\$5,000.00	\$20,000.00	\$5,000.00	\$20,000.00	\$3,600.00
47 532-0001	350,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00
48 599-N0047	181,975.00 USD	Polyurethane Grout (No-Bid)	\$1.00	\$181,975.00	\$1.00	\$181,975.00	\$1.00	\$181,975.00	\$1.00	\$181,975.00	\$1.00	\$181,975.00	\$1.00
49 599-N0132	175,000.00 USD	Force Account for Unforeseen Cleaning of Culverts (No-Bid)	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00
50 703-0001	7,435.00 S.Y.	Topsoil	\$5.00	\$37,175.00	\$2.00	\$14,870.00	\$50.00	\$371,750.00	\$5.00	\$37,175.00	\$4.00	\$29,740.00	\$7.00
51 704-0001	7,220.00 S.Y.	Seeding, Type A	\$2.00	\$14,440.00	\$1.00	\$7,220.00	\$1.50	\$10,830.00	\$1.00	\$7,220.00	\$2.25	\$16,245.00	\$1.00
52 704-0002	442 S.Y.	Seeding, Type B	\$4.00	\$1,768.00	\$2.00	\$884.00	\$3.50	\$1,547.00	\$1.00	\$442.00	\$2.25	\$994.50	\$3.00
53 704-0004	215 S.Y.	Seeding, Type L	\$4.00	\$860.00	\$3.00	\$645.00	\$4.00	\$860.00	\$1.00	\$215.00	\$2.25	\$483.75	\$4.00
54 706-0001	7,435.00 S.Y.	Permanent Soil Stabilization Matting	\$7.00	\$52,045.00	\$7.00	\$52,045.00	\$3.00	\$22,305.00	\$7.00	\$52,045.00	\$6.50	\$48,327.50	\$6.00
55 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$50,000.00	\$50,000.00	\$125,000.00	\$125,000.00	\$650,000.00	\$650,000.00	\$125,000.00	\$125,000.00	\$300,000.00	\$300,000.00	\$400,000.00
56 801-0002	3,660.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$12.00	\$43,920.00	\$20.00	\$73,200.00	\$60.00	\$219,600.00	\$50.00	\$183,000.00	\$45.00	\$164,700.00	\$30.00
57 801-0003	3,660.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$36.00	\$131,760.00	\$35.00	\$128,100.00	\$20.00	\$73,200.00	\$44.00	\$161,040.00	\$60.00	\$219,600.00	\$10.00
58 801-0009	5 Each	Furnishing Portable Variable Message Sign	\$3,400.00	\$17,000.00	\$4,500.00	\$22,500.00	\$12,000.00	\$60,000.00	\$5,000.00	\$25,000.00	\$8,000.00	\$40,000.00	\$8,000.00
59 801-0010	3 Each	Furnishing Temporary Impact Attenuator	\$2,000.00	\$6,000.00	\$6,500.00	\$19,500.00	\$5,000.00	\$15,000.00	\$5,000.00	\$15,000.00	\$13,000.00	\$39,000.00	\$6,000.00

New Jersey Turnpike Authority Contract No. P200.491 Letting Date: 10/23/2020

	BaseLine Item Detail	Joseph M.	Sanzari, Inc.	J. Fletcher Cre	eamer & Son, Inc.	JR Cr	uz Corp.	Carbro Cons	tructors Corp.	Kyle Conti Co	onstruction, LLC	Sparwick Cor
Item No. Unit Code Qty	UOM Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price
60 801-0011	3 Each Placing and Removing Temporary Impact Attenuator	\$2,050.00	\$6,150.00	\$4,000.00	\$12,000.00	\$3,000.00	\$9,000.00	\$2,500.00	\$7,500.00	\$4,500.00	\$13,500.00	\$4,500.00
61 801-0012	10 Each Repair Temporary Impact Attenuators	\$100.00	\$1,000.00	\$225.00	\$2,250.00	\$2,500.00	\$25,000.00	\$300.00	\$3,000.00	\$300.00	\$3,000.00	\$1,000.00
			\$5,670,490.00		\$6,379,695.00		\$6,895,196.00		\$7,508,497.00		\$7,728,888.75	5

		BaseLine Item Detail	ntracting, Inc.	Mount Const	ruction Co., Inc.	Ren	cor, Inc.	Union Paving & Co	nstruction Co., Inc.	Ferreira Cons	struction Co. Inc.	Railroad Cons	truction Co., Inc.	Conti Enter
Item No. Unit Code	Qty UOM	Description	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price
1 104-0001	1 L.S.	Construction Layout	\$30,000.00	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$85,000.00	\$85,000.00	\$39,398.99	\$39,398.99	\$75,000.00	\$75,000.00	\$75,000.00
2 104-0002	1 L.S.	Mobilization	\$785,000.00	\$350,000.00	\$350,000.00	\$380,000.00	\$380,000.00	\$460,000.00	\$460,000.00	\$475,000.00	\$475,000.00	\$760,000.00	\$760,000.00	\$440,000.00
3 107-0001	1 L.S.	Progress Schedule	\$1,500.00	\$2,500.00	\$2,500.00	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$19,026.00	\$19,026.00	\$20,000.00	\$20,000.00	\$14,000.00
4 108-0001	2,000.00 USD	Fuel Price Adjustment (No-Bid)	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00
5 201-0002	1 L.S.	Clearing and Grubbing	\$265,000.00	\$150,000.00	\$150,000.00	\$300,000.00	\$300,000.00	\$65,000.00	\$65,000.00	\$30,205.00	\$30,205.00	\$90,000.00	\$90,000.00	\$100,000.00
6 202-0002	2,162.00 C.Y.	Roadway Excavation, Earth	\$86,480.00	\$70.00	\$151,340.00	\$35.00	\$75,670.00	\$42.00	\$90,804.00	\$100.00	\$216,200.00	\$165.00	\$356,730.00	\$42.00
7 202-0007	748 C.Y.	Stripping Topsoil	\$37,400.00	\$45.00	\$33,660.00	\$40.00	\$29,920.00	\$17.00	\$12,716.00	\$26.00	\$19,448.00	\$50.00	\$37,400.00	\$26.00
8 202-0009	50,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00
9 203-0001	1,694.00 C.Y.	Embankment, Common	\$67,760.00	\$50.00	\$84,700.00	\$35.00	\$59,290.00	\$18.00	\$30,492.00	\$65.00	\$110,110.00	\$80.00	\$135,520.00	\$45.00
10 203-N0002	1,213.00 C.Y.	Controlled Low Strength Material	\$388,160.00	\$240.00	\$291,120.00	\$250.00	\$303,250.00	\$600.00	\$727,800.00	\$316.00	\$383,308.00	\$440.00	\$533,720.00	\$740.00
11 207-0003	38 Ton	Riprap Stone Slope Protection, 24in Thick, D50=12in	\$3,040.00	\$150.00	\$5,700.00	\$200.00	\$7,600.00	\$100.00	\$3,800.00	\$70.00	\$2,660.00	\$300.00	\$11,400.00	\$100.00
12 207-0004	161 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$14,490.00	\$120.00	\$19,320.00	\$170.00	\$27,370.00	\$100.00	\$16,100.00	\$84.00	\$13,524.00	\$250.00	\$40,250.00	\$77.00
13 208-0006	145 C.Y.	Hay Bales	\$14,500.00	\$25.00 \$8.00	\$3,625.00	\$60.00	\$8,700.00	\$25.00	\$3,625.00	\$180.00 \$10.00	\$26,100.00	\$125.00	\$18,125.00	\$145.00 \$7.00
14 208-0008 15 208-0022	5,137.00 L.F. 20 Each	Heavy Duty Silt Fence Inlet Filter, Type 2	\$25,685.00 \$2,000.00	\$8.00	\$41,096.00 \$4,300.00	\$8.00 \$222.00	\$41,096.00 \$4,440.00	\$7.00 \$200.00	\$35,959.00 \$4,000.00	\$10.00	\$51,370.00 \$8,400.00	\$8.00 \$150.00	\$41,096.00 \$3,000.00	\$260.00
16 208-0024	1,646.00 Ton	Construction Driveway	\$74,070.00	\$90.00	\$148,140.00	\$50.00	\$82,300.00	\$70.00	\$115,220.00	\$104.00	\$171,184.00	\$130.00	\$115,220.00	\$40.00
17 208-N0001	2 Each	Concrete Washout Facility	\$5,000.00	\$5,000.00	\$10,000.00	\$30,000.00	\$60,000.00	\$4,000.00	\$8,000.00	\$18,385.00	\$36,770.00	\$2,000.00	\$4,000.00	\$5,500.00
18 208-N0001	30 Each	Sediment Control Bags	\$15,000.00	\$220.00	\$6,600.00	\$258.00	\$7,740.00	\$100.00	\$3,000.00	\$415.00	\$12,450.00	\$2,000.00	\$36,000.00	\$700.00
19 208-N0002	1 L.S.	Stream Diversion	\$1,065,000.00		\$412,000.00	\$300,000.00	\$300,000.00		\$1,900,000.00	\$350,619.00	\$350,619.00	\$350,000.00	\$350,000.00	\$1,200,000.00
20 208-N0009	2 Each	Oil-Only Emergency Spill Kit, Type 1	\$500.00	\$500.00	\$1,000.00	\$1,524.00	\$3,048.00	\$1,000.00	\$2,000.00	\$819.00	\$1,638.00	\$1,500.00	\$3,000.00	\$1,000.00
21 213-0002	3,082.00 Ton	Disposal of Regulated Material	\$138,690.00	\$75.00	\$231,150.00	\$20.00	\$61,640.00	\$40.00	\$123,280.00	\$66.00	\$203,412.00	\$90.00	\$277,380.00	\$46.00
22 302-0004	1,665.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$374,625.00	\$125.00	\$208,125.00	\$210.00	\$349,650.00	\$110.00	\$183,150.00	\$125.00	\$208,125.00	\$180.00	\$299,700.00	\$155.00
23 303-0001	162 S.Y.	Berm Surfacing, 3 Inches Thick	\$12,474.00	\$65.00	\$10,530.00	\$65.00	\$10,530.00	\$45.00	\$7,290.00	\$60.00	\$9,720.00	\$75.00	\$12,150.00	\$65.00
24 415-0001	1,600.00 S.F.	Temporary Sheeting	\$48,000.00	\$95.00	\$152,000.00	\$200.00	\$320,000.00	\$110.00	\$176,000.00	\$45.00	\$72,000.00	\$50.00	\$80,000.00	\$135.00
25 418-0023	2 L.F.	Epoxy Resin Injection	\$1,000.00	\$1,600.00	\$3,200.00	\$250.00	\$500.00	\$200.00	\$400.00	\$228.00	\$456.00	\$500.00	\$1,000.00	\$270.00
26 499-N0083	1,604,000.00 USD	Furnish CCFRPM Pipe Liner, (No-Bid)	\$1,604,000.00	\$1.00	\$1,604,000.00	\$1.00		\$1.00	\$1,604,000.00	\$1.00	\$1,604,000.00	\$1.00	\$1,604,000.00	\$1.00
27 499-N0084	1,200.00 L.F.	Install CCFRPM Pipe Liner	\$573,600.00	\$850.00	\$1,020,000.00	\$950.00	\$1,140,000.00	\$600.00	\$720,000.00	\$1,350.00	\$1,620,000.00	\$900.00	\$1,080,000.00	\$450.00
28 499-N0085	130,000.00 USD	Furnish 40 inch Steel Pipe Liner (No-Bid)	\$130,000.00	\$1.00	\$130,000.00	\$1.00	\$130,000.00	\$1.00	\$130,000.00	\$1.00	\$130,000.00	\$1.00	\$130,000.00	\$1.00
29 499-N0086	361 L.F.	Install 40 inch Steel Pipe Liner	\$142,595.00	\$1,000.00	\$361,000.00	\$650.00	\$234,650.00	\$1,000.00	\$361,000.00	\$1,450.00	\$523,450.00	\$600.00	\$216,600.00	\$975.00
30 502-0008	100 L.F.	15 In Reinforced Concrete Pipe, Class V	\$10,000.00	\$200.00	\$20,000.00	\$100.00	\$10,000.00	\$90.00	\$9,000.00	\$167.00	\$16,700.00	\$180.00	\$18,000.00	\$275.00
31 502-0009	164 L.F.	15 Inch HDPE Pipe	\$26,240.00	\$185.00	\$30,340.00	\$100.00	\$16,400.00	\$70.00	\$11,480.00	\$50.00	\$8,200.00	\$170.00	\$27,880.00	\$150.00
32 502-0018	2 Each	15 Inch HDPE Flared End Section	\$1,060.00	\$3,500.00	\$7,000.00	\$5,000.00	\$10,000.00	\$900.00	\$1,800.00	\$5,153.00	\$10,306.00	\$2,500.00	\$5,000.00	\$2,200.00
33 503-0037	1 Each	Inlet, Type D2 Modified	\$25,000.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$75,000.00	\$75,000.00	\$71,000.00	\$71,000.00	\$52,000.00
34 503-0253	7 Each	Reconstructed Inlet, Type D2, Using New Grate and Frame	\$24,500.00	\$3,000.00	\$21,000.00	\$6,000.00	\$42,000.00	\$2,300.00	\$16,100.00	\$1,721.00	\$12,047.00	\$4,500.00	\$31,500.00	\$5,500.00
35 504-0011	151 C.Y.	Incidental Concrete	\$67,950.00	\$1,100.00	\$166,100.00	\$316.00	\$47,716.00	\$600.00	\$90,600.00	\$893.00	\$134,843.00	\$750.00	\$113,250.00	\$390.00
36 505-0001	364 L.F.	Asphalt Concrete Lip Curb	\$7,280.00	\$30.00	\$10,920.00	\$30.00	\$10,920.00	\$15.00	\$5,460.00	\$25.00	\$9,100.00	\$35.00	\$12,740.00	\$27.00
37 510-0008	364 L.F.	Reset Beam Guide Rail	\$12,740.00	\$40.00	\$14,560.00	\$25.00	\$9,100.00	\$35.00	\$12,740.00	\$28.00	\$10,192.00	\$45.00	\$16,380.00	\$20.00
38 517-0002	1 L.S.	Furnish Field Office, Type B	\$9,000.00	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	\$10,000.00	\$10,000.00	\$24,382.00	\$24,382.00	\$20,000.00	\$20,000.00	\$25,000.00
39 517-0008		Maintain Field Office, Type B	\$43,700.00	\$2,500.00	\$47,500.00	\$2,500.00	\$47,500.00	\$3,500.00	\$66,500.00	\$2,551.00	\$48,469.00	\$2,000.00	\$38,000.00	\$2,500.00
40 517-0013	15,000.00 USD	Furnish Office Supplies (No-Bid)	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00
41 522-0001	10 Each	Test Pits	\$3,000.00	\$400.00	\$4,000.00	\$1,550.00	\$15,500.00	\$300.00	\$3,000.00	\$400.00	\$4,000.00	\$1,400.00	\$14,000.00	\$550.00
42 523-0005	361 L.F.	Clean Existing Storm Drain, 27in to 48in Diameter	\$16,245.00	\$55.00	\$19,855.00	\$70.00	\$25,270.00	\$95.00	\$34,295.00	\$300.00	\$108,300.00	\$100.00	\$36,100.00	\$95.00
43 523-N0003 44 524-0008	1,188.00 L.F.	Heavy Pipe Cleaning Repair Temporary Impact Attenuators (Cartridge)	\$136,620.00 \$4,000.00	\$260.00 \$3,500.00	\$308,880.00 \$14,000.00	\$100.00 \$5,000.00	\$118,800.00 \$20,000.00	\$110.00 \$700.00	\$130,680.00 \$2,800.00	\$325.00 \$1,551.00	\$386,100.00 \$6,204.00	\$325.00 \$5,000.00	\$386,100.00 \$20,000.00	\$245.00 \$1,500.00
45 524-0043	4 Each 4 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24in Wide	\$40,000.00	\$20,000.00	\$80,000.00	\$14,150.00	\$56,600.00	\$3,000.00	\$12,000.00	\$1,331.00	\$35,108.00	\$11,500.00	\$46,000.00	\$18,500.00
46 524-0044	4 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$14,400.00	\$3,500.00	\$14,000.00	\$13,500.00	\$54,000.00	\$3,500.00	\$12,000.00	\$3,102.00	\$12,408.00	\$11,500.00	\$46,000.00	\$2,800.00
47 532-0001	350,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$350,000.00	\$3,300.00	\$350,000.00	\$1.00	\$350,000.00	\$3,300.00	\$350,000.00	\$3,102.00	\$350,000.00	\$11,300.00	\$350,000.00	\$1.00
48 599-N0047	181,975.00 USD	Polyurethane Grout (No-Bid)	\$181,975.00	\$1.00	\$181,975.00	\$1.00	\$181,975.00	\$1.00	\$181,975.00	\$1.00	\$181,975.00	\$1.00	\$181,975.00	\$1.00
49 599-N0132	175,000.00 USD	Force Account for Unforeseen Cleaning of Culverts (No-Bid)	\$175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00	\$175,000.00	\$1.00
50 703-0001	7,435.00 S.Y.	Topsoil	\$52,045.00	\$4.00	\$29,740.00	\$5.00	\$37,175.00	\$3.00	\$22,305.00	\$3.00	\$22,305.00	\$4.00	\$29,740.00	\$4.00
51 704-0001	7,220.00 S.Y.	Seeding, Type A	\$7,220.00	\$2.00	\$14,440.00	\$1.50	\$10,830.00	\$1.70	\$12,274.00	\$2.00	\$14,440.00	\$2.00	\$14,440.00	\$2.00
52 704-0002	442 S.Y.	Seeding, Type B	\$1,326.00	\$2.00	\$884.00	\$2.00	\$884.00	\$2.20	\$972.40	\$2.00	\$884.00	\$2.00	\$884.00	\$2.50
53 704-0004	215 S.Y.	Seeding, Type L	\$860.00	\$2.00	\$430.00	\$2.00	\$430.00	\$2.20	\$473.00	\$2.00	\$430.00	\$2.00	\$430.00	\$2.50
54 706-0001	7,435.00 S.Y.	Permanent Soil Stabilization Matting	\$44,610.00	\$6.00	\$44,610.00	\$6.00	\$44,610.00	\$4.00	\$29,740.00	\$6.00	\$44,610.00	\$8.00	\$59,480.00	\$7.00
55 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$400,000.00		\$250,000.00	•	\$400,000.00	\$256,000.00	\$256,000.00	•	\$182,555.00	\$150,000.00	\$150,000.00	\$491,431.50
56 801-0002	3,660.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$109,800.00	\$40.00	\$146,400.00	\$60.00	\$219,600.00	\$16.00	\$58,560.00	\$51.00	\$186,660.00	\$44.00	\$161,040.00	\$38.00
57 801-0003	3,660.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$36,600.00	\$70.00	\$256,200.00	\$21.00	\$76,860.00	\$12.00	\$43,920.00	\$33.00	\$120,780.00	\$60.00	\$219,600.00	\$32.00
58 801-0009	5 Each	Furnishing Portable Variable Message Sign	\$40,000.00	\$7,000.00	\$35,000.00	\$17,000.00	\$85,000.00	\$15,000.00	\$75,000.00	\$16,383.00	\$81,915.00	\$15,000.00	\$75,000.00	\$16,000.00
59 801-0010	3 Each	Furnishing Temporary Impact Attenuator	\$18,000.00		\$60,000.00	\$5,200.00	\$15,600.00	\$5,000.00	\$15,000.00	\$4,819.00	\$14,457.00	\$5,500.00	\$16,500.00	\$6,800.00

Letting Date: 10/23/2020

New Jersey Turnpike Authority Contract No. P200.491 Letting Date: 10/23/2020

		BaseLine Item Detail	ntracting, Inc.	Mount Cons	struction Co., Inc.	Ren	cor, Inc.	Union Paving & Co	onstruction Co., Inc.	Ferreira Con	struction Co. Inc.	Railroad Con	struction Co., Inc.	Conti Enter
Item No. Unit Code Qty	UOM	Description	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price
60 801-0011	3 Each	Placing and Removing Temporary Impact Attenuator	\$13,500.00	\$3,500.00	\$10,500.00	\$5,000.00	\$15,000.00	\$2,000.00	\$6,000.00	\$3,102.00	\$9,306.00	\$3,000.00	\$9,000.00	\$2,600.00
61 801-0012	10 Each	Repair Temporary Impact Attenuators	\$10,000.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00	\$400.00	\$4,000.00	\$775.00	\$7,750.00	\$1,000.00	\$10,000.00	\$700.00
			\$7,855,240.00		\$7,985,440.00		\$7,995,164.00		\$8,627,310.40		\$8,699,999.99		\$8,753,330.00	

New Jersey Turnpike Authority Contract No. P200.491

		BaseLine Item Detail	prises, Inc.	Northeast Remsco	Construction, Inc.
Item No. Unit Code	Qty UOM	Description	Line Total	Unit Price	Line Total
1 104-0001	1 L.S.	Construction Layout	\$75,000.00	\$80,000.00	\$80,000.00
2 104-0002	1 L.S.	Mobilization	\$440,000.00	\$490,000.00	\$490,000.00
3 107-0001	1 L.S.	Progress Schedule	\$14,000.00	\$15,000.00	\$15,000.00
4 108-0001	2,000.00 USD	Fuel Price Adjustment (No-Bid)	\$2,000.00	\$1.00	\$2,000.00
5 201-0002	1 L.S.	Clearing and Grubbing	\$100,000.00	\$135,000.00	\$135,000.00
6 202-0002	2,162.00 C.Y.	Roadway Excavation, Earth	\$90,804.00	\$154.00	\$332,948.00
7 202-0007	748 C.Y.	Stripping Topsoil	\$19,448.00	\$79.00	\$59,092.00
8 202-0009	50,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$50,000.00	\$1.00	\$50,000.00
9 203-0001	1,694.00 C.Y.	Embankment, Common	\$76,230.00	\$74.00	\$125,356.00
10 203-N0002	1,213.00 C.Y.	Controlled Low Strength Material	\$897,620.00	\$149.00	\$180,737.00
11 207-0003	38 Ton	Riprap Stone Slope Protection, 24in Thick, D50=12in	\$3,800.00	\$165.00	\$6,270.00
12 207-0004	161 Ton	RipRap Stone Aprons, 12in Thick(D50=6in)	\$12,397.00	\$94.00	\$15,134.00
13 208-0006	145 C.Y.	Hay Bales	\$21,025.00	\$125.00	\$18,125.00
14 208-0008	5,137.00 L.F.	Heavy Duty Silt Fence	\$35,959.00	\$9.00	\$46,233.00
15 208-0022	20 Each	Inlet Filter, Type 2	\$5,200.00	\$225.00	\$4,500.00
16 208-0024	1,646.00 Ton	Construction Driveway	\$65,840.00	\$100.00	\$164,600.00
17 208-N0001	2 Each	Concrete Washout Facility	\$11,000.00	\$1,800.00	\$3,600.00
18 208-N0002	30 Each	Sediment Control Bags	\$21,000.00	\$940.00	\$28,200.00
19 208-N0008	1 L.S.	Stream Diversion	\$1,200,000.00	\$621,000.00	\$621,000.00
20 208-N0009	2 Each	Oil-Only Emergency Spill Kit, Type 1	\$2,000.00	\$1,067.00	\$2,134.00
21 213-0002	3,082.00 Ton	Disposal of Regulated Material	\$141,772.00	\$40.00	\$123,280.00
22 302-0004	1,665.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$258,075.00	\$200.00	\$333,000.00
23 303-0001	162 S.Y.	Berm Surfacing, 3 Inches Thick	\$10,530.00	\$140.00	\$22,680.00
24 415-0001	1,600.00 S.F.	Temporary Sheeting	\$216,000.00	\$85.00	\$136,000.00
25 418-0023	2 L.F.	Epoxy Resin Injection	\$540.00	\$1,650.00	\$3,300.00
26 499-N0083	1,604,000.00 USD	Furnish CCFRPM Pipe Liner, (No-Bid)	\$1,604,000.00	\$1,030.00	\$1,604,000.00
27 499-N0084	1,200.00 L.F.	Install CCFRPM Pipe Liner	\$540,000.00	\$760.00	\$912,000.00
28 499-N0085	130,000.00 USD	Furnish 40 inch Steel Pipe Liner (No-Bid)	\$130,000.00	\$1.00	\$130,000.00
29 499-N0086	361 L.F.	Install 40 inch Steel Pipe Liner	\$351,975.00	\$1,300.00	\$469,300.00
30 502-0008	100 L.F.	15 In Reinforced Concrete Pipe, Class V	\$27,500.00	\$375.00	\$37,500.00
31 502-0009	164 L.F.	15 Inch HDPE Pipe	\$24,600.00	\$173.00	\$28,372.00
32 502-0018	2 Each	15 Inch HDPE Flared End Section	\$4,400.00	\$175.00	\$310.00
33 503-0037	1 Each	Inlet, Type D2 Modified	\$52,000.00	\$76,590.00	\$76,590.00
	7 Each	Reconstructed Inlet, Type D2, Using New Grate and Frame			
34 503-0253	151 C.Y.	Incidental Concrete	\$38,500.00	\$3,930.00	\$27,510.00
35 504-0011			\$58,890.00	\$250.00	\$37,750.00
36 505-0001	364 L.F.	Asphalt Concrete Lip Curb	\$9,828.00	\$34.00	\$12,376.00
37 510-0008	364 L.F.	Reset Beam Guide Rail	\$7,280.00	\$36.00	\$13,104.00
38 517-0002	1 L.S.	Furnish Field Office, Type B	\$25,000.00	\$36,100.00	\$36,100.00
39 517-0008		Maintain Field Office, Type B	\$47,500.00	\$3,000.00	\$57,000.00
40 517-0013	15,000.00 USD	Furnish Office Supplies (No-Bid)	\$15,000.00	\$1.00	\$15,000.00
41 522-0001	10 Each	Test Pits	\$5,500.00	\$1,450.00	\$14,500.00
42 523-0005	361 L.F.	Clean Existing Storm Drain, 27in to 48in Diameter	\$34,295.00	\$61.00	\$22,021.00
43 523-N0003	1,188.00 L.F.	Heavy Pipe Cleaning	\$291,060.00	\$230.00	\$273,240.00
44 524-0008	4 Each	Repair Temporary Impact Attenuators (Cartridge)	\$6,000.00	\$3,200.00	\$12,800.00
45 524-0043	4 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24in Wide	\$74,000.00	\$18,900.00	\$75,600.00
46 524-0044	4 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$11,200.00	\$3,200.00	\$12,800.00
47 532-0001	350,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$350,000.00	\$1.00	\$350,000.00
48 599-N0047	181,975.00 USD	Polyurethane Grout (No-Bid)	\$181,975.00	\$1.00	\$181,975.00
49 599-N0132	175,000.00 USD	Force Account for Unforeseen Cleaning of Culverts (No-Bid)	\$175,000.00	\$1.00	\$175,000.00
50 703-0001	7,435.00 S.Y.	Topsoil	\$29,740.00	\$3.25	\$24,163.75
51 704-0001	7,220.00 S.Y.	Seeding, Type A	\$14,440.00	\$1.50	\$10,830.00
52 704-0002	442 S.Y.	Seeding, Type B	\$1,105.00	\$2.00	\$884.00
53 704-0004	215 S.Y.	Seeding, Type L	\$537.50	\$2.00	\$430.00
54 706-0001	7,435.00 S.Y.	Permanent Soil Stabilization Matting	\$52,045.00	\$5.50	\$40,892.50
55 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$491,431.50	\$1,281,000.00	\$1,281,000.00
56 801-0002	3,660.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$139,080.00	\$30.00	\$109,800.00
57 801-0003	3,660.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$117,120.00	\$14.00	\$51,240.00
	5 Each	Furnishing Portable Variable Message Sign	\$80,000.00	\$23,000.00	\$115,000.00
58 801-0009 59 801-0010	3 Eden	Furnishing Temporary Impact Attenuator	\$20,400.00	\$4,850.00	\$14,550.00

Letting Date: 10/23/2020

New Jersey Turnpike Authority Contract No. P200.491

Letting Date: 10/23/2020

	BaseLine Item Detail	prises, Inc.	Northeast Remsco	Construction, Inc.
Item No. Unit Code Qty UOM	Description	Line Total	Unit Price	Line Total
60 801-0011 3 Each	Placing and Removing Temporary Impact Attenuator	\$7,800.00	\$9,780.00	\$29,340.00
61 801-0012 10 Each	Repair Temporary Impact Attenuators	\$7,000.00	\$2,960.00	\$29,600.00
		\$8,796,442.00		\$9,280,767.25